Time: - 2.00 p.m. to 4.00 p.m.

Q.1
(a)

(b)

(©
Q.1
(a)
(b)

(©
Q.2
(a)

(b)

(©)

Q.2
(a

(b)
(c)

Q3
(@)

(b}
©

Www.gujaratstudy.com

SARDAR PATEL UNIVERSITY
BBA (ISM) EXAMINATION
SEMESTER ~1 (NC)
Saturday, 18™ March 2017
UMO01CBBS07: BUSINESS MATHEMATICS

Solve:[x ~ 4] = 0.1
WU ={x1<x<10,x € N},A=1{1,2,745},B = {2,3,9,6,7,8} and
C =1{3,4,5,6},then find AUB,BNC,B —C,AAC and A’.
MU = {1,2,3,4,5,6,7,8,9,10,11}, A= {1,2,5,6,9} and B = {2, 4, 6, 8} then
Verify: (1) (AUBY =A'nB’ (Q)(AnB)Y =4 UB'
OR
Define the terms with example: (1) Union of two sets  (2) Intersection of two sets

Express the following inequalities in a Modulus form: —4 < x < 3
Express (1) 0.023023023 and (2} 2.020202....into quotient form.

- — _4‘ 2 — 4’ “—‘3 . T o AT T
IFA [_5 3] and B [3 ul],thenverlfythat (A+B)'=AT+ BT,
4 -1 -2 5 2 4
Ei‘A:l—l 31,B=13 —1landC=|-1 -5],
2 0 5 2 3 ~2
Then find 1.A- C 22.A+B+C 334-2B + C
Solve the equations by Inverse of matrix: 3x — 2y 4+ z = 2
x+3y—2z=2
2x—y+z=2
OR

Define the terms with example: (1) Zere Matrix  (2) Transpose Matrix _

Solve the following equations by Cramer’s Rule: 2x + y = 4; 5x + 3y =9

1 1 3 1 1 2
IfA = [2 3 1} and B = {2 4 1}, then find AB and B A.

31 2 1 2 2 o
Also check whether AB = BA or not.

Check whether or not the points(1, —3), (=6, 6)and (8, 0) are collinear.
Find the area of triangle having the vertices: A(=3, 2),B(1, —2),C(5, 6).
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Find the equation of a line passing through the point (—2,7) and making equal interceptson 06

the co-ordinate axes.
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OR

Find x if d{(x, —4), (—8,2)} = 10.
Find what values of k, the lines 3x — (3k+2)y+2 = 0 and 2x— (k~3)y—1=0 are

1. Parallel?
2. Perpendicular?

Show that the equation of a line having slope m and passing through 4(x,, y,) is

Y=y =mx — xq).

Evaluate following:

. Vx+7-3
1. lim -

x—2 Xx-2

. xX*-9
2. lim

x—3 x=3

Write working rules for Limit.

Evaluate following:

] . ¥ = 2x? 4+ 2x -1
. lim

xa x_]_

. 5¥-3%
3. 1Hm
x-0 X

3dim (Vut e a1l -0+ 1)

H—= o0

OR

2. lim (1 +2)n

n-»co
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